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add t0, tO, tO # t0=2a

sub t0, x0, tO # t0=-2a

add tl1, tl1, t2 # tl=b+c

sub t0, t0, tl # t0=-2a-(b+c)

sub t0, t0, tl1 # t0=-2a-(b+c)-(b+c)
sub t0, t0, t3 # t0=-2a-(b+c)-(d+b+c)

addi t0, t0, 200 # t0=-2a-(b+c)-(d+b+c)-200
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addi t0, to,
add t1, t1, tl
s11i t0, t0, 5
s11i t1, t1, 5
add a0, a0, tl1
add al, al, tO
Tw t2, 0Cal)

sw t2, 0Ca0)
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t0=i-8
t1=2
t0=32%(i-8)
t1=32%(2%7)
a0=A[2%]]
al=B[i-8]
t2=B[i-8]
A[2*j]=B[1-8]
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SW

tl, 1(t0);
tl, 4(t0);
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la t0, place # tOfRAEN[ Mk
Tw t1, 0(t0) # t1LRAFn
la t2, first # C2{RAFEE — T
Ta t3, second # T3LRATEE T Hu bk
Ta t4, save # CALRAT R — DR i Hh ki
sw t2, 0(t4) # DRI
addi t4, t4, 4 # t43E T —MIHE
addi tl1, t1, -2 # n=n-1
beqz tl, done # #nET0, MgR
sw t3, 0(t4) # DRAFHE 0
addi t4, t4, 4 # tadRE R ML
addi tl, t1, -2 # n=n-1
beqz tl, done # 0, NgsER
Toop Tw t2, -8(t4) # BRI
Tw t3, -4(t4) # ORI



add t0, t2, t3 # t0=t2+t3

sw t0, 0(t4) # RAF N A
addi t2, t2, 4

addi t3, t3, 4 #19 TUAE TR
addi t4, t4, 4 #ORAT B BT
addi t1 t1 -1 #n=n-1

beez tl, loop # #inZET0, NgsEHR

done 1i vO, 10 #EER
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